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Show your work., Box answers please, You are allowed a 3 x 5 notecard and & {non-graphing) caleulator

inchudes the points (1,11}, (0.22) and (0,0,3).
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Problem 2 (10 pts] Caleulate rref(A4) for 4 given below,

1 2 0
: - Y~ [ { s G el l 2 o LD 1 BT S
A e 1 28 % o O O 'ﬁg & o 2 \ b { Lo I - t
----- 101 Sl o T e 6 o 0 o o
A Lo =y
M{m (o= el (a)
(o} o (a3
Problem 3 [5 pts] Find q!'icn:ﬁm';.tary matrices &y, B, .. By such that ree f{A) = By By - EpA.
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Problem 4 [10pts] Suppose 7 -+ 2y = ¢ and 32 4 Ty = & for & pair of given constants o, b € B, Write
this system of eguations as & matrix eguation and solve it either by multiplication by inverse or

Chramer's tigle.
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Problem 5 {10pts] Buppose 1/e? + 2/y = a and —2/2% « 4/y* = b for a pair of given constants

abe R,
{a.) Make o subsitution to make this a Hneay system of equations,
(b} solve the linear system and state any necessary conditions on a, b for solutions existing

{c.} undo the gabstitution aned find all sclutions.
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Problem 6 {10pts] You are given A == 3 4 and I = [l Caleulate the matrix products
i1

given helow if it is possible. However, it the requested calenlation is not-defined then say "dae”
for your answer,
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Problem 7 {10pts] Solve Av = b for 2 by Cramer’s Rule. We define 2 by v = {2, v, 2]7 and 4,b by
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Problemn 8 [Gpts] Assume A, B ave invertible, If € = AB™! then is O invertible?
h
Snl ’@

(c) = 0&’){3 (A B ’/MW M(ﬁ/&ﬂﬂ/ﬁ (87) = %@z )
B L#E,Mxm. Q@,Qjﬁ) (C) :7/ o and  wt o .

hhd 7 exisly

(g\@ ) =@ A =[BAT] (e (A )M = a6 Gn"
‘h.f b5 inveetlle , herels Hha fvromobe ) TAIA

4 2 37
Problem 9 [5pts] Lot A = { FI]

= AN
1 0 o =1 in
3 1) and suppose let AR =10 2 0 |. Caleulate det(5),
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Problem 10 [5Spts] Suppose that the matrix below iz the augmvnh‘d coeflicient matrix for a linear

svstom of equations Az = b where z = {xy, 28, 23, 24, ]_r]
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Find the general solution of Az = b in parametric form
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Problem 11 {10pts] Suppose M is a3 » 3 matrix which appemrs as a submatrix of A from the provious
[ 100
problem, In other words, M =

} Find M™% and solve Me,y, 217 = o, b, for
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Problem 12 [5pts] Suppose D = P7PAQ snd det{QQ) % 0. Solve for A,

PO = PP AL
popg’ = PP A aq”

Problem 13 [5pts] Suppose {vy, vo, w3} forms a right-handed triple with volume 8. Is { wg, v1, 2} 14
also a right-handed triple?
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